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JNE] i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
Xl 46,632 109, 495] 53, 562] 55,933 3 6] -16 51 67 22 471 449 0 109 109
HI—TH 678 1,431 699 732 1 5 -1 2 3 4 7 3 2 2 0
FL T H 552|l 1,313 659 654 -1 -7 -1 0 1 -2 3 5 —4 0 4
LI =TH 451 1,010 487 523 0 1 -1 0 1 3 5 2 -1 0 1
SLAE 1,681 3,754]  1,845| 1,909 0 -1 -3 2 5 5 15 10 -3 2 5
Sk —TH 490l 1,027 489 538 3 8 0 0 0 8 12 4 0 0 0
. = 766 1,833 885 948 —4 —6 -2 0 2 -1 2 3 -3 1 4
SR —TH 548 1,308 634 674 3 6 1 1 0 4 7 3 1 1 0
S AT H 373 915 446 469 -1 -6 1 1 0 -9 0 9 2 2 0
ot T H 568 1,256 614 642 0 0 0 0 0 3 4 1 -3 0 3
BN T B 219 483 227 256 0 0 0 0 0 0 0 0 0 0 0
ARt TH 641 1,653 825 828 1 6 -1 0 1 -3 5 8 10 11 1
oA\ T H 396 911 452 459 3 1 0 0 0 0 0 0 1 1 0
IV B 595[ 1,449 726 723 -2 -3 -1 0 1 0 4 4 -2 1 3
S aatl 4,596 10,835| 5,298 5,537 3 6 -2 2 4 2 34 32 6 17 11
e n—1H 343 820 409 411 5 1 -1 0 1 1 4 3 1 1 0
e T H 937l 2,025 992 1,033 8 10 1 2 1 5 6 1 4 6 2
HHk o —TH 674| 1,455 708 747 3 6 0 0 0 9 12 3 -3 1 4
W A5 1,954 4,300 2,109] 2,191 16 17 0 2 2 15 22 7 2 8 6
Mt A — T H 577IL 1,260 623 637 5 6 0 1 1 2 4 2 4 4 0
ek R _TH 372 923 477 446 0 0 -1 0 1 2 4 2 -1 0 1
Mk R =TH 246 545 271 274 -1 2 0 0 0 3 7 4 -1 0 1
ik L G| 530/l 1,310 668 642 -3 -5 -2 0 2 0 4 4 -3 0 3
msEr aaEt] 1,725 4,038] 2,039 1,999 1 3 -3 1 4 7 19 12 -1 4 5
TEIT) 349 974 429 545 2 6 0 0 0 4 6 2 2 2 0
HOEEN— T H 155 383 180 203 1 1 0 0 0 0 0 0 1 1 0
HOEE T H 417 997 476 521 0 2 -1 0 1 2 3 1 1 1 0
HoEEI =T H 675 1,728 833 895 0 5 -1 0 1 5 8 3 1 3 2
HOEEAN T H 714/ 1,785 867 918 2 7 -1 0 1 5 11 6 3 3 0
HEROH T H 404 980 491 489 1 4 2 2 0 2 2 0 0 0 0
HOEEIS T H 394 947 462 485 2 3 1 2 1 0 1 1 2 2 0
HoEEOETH 630 1,443 704 739 -71  -11 -2 1 3 -5 8 13 —4 0 4
HOEEHO S A 3,389 8,263 4,013| 4,250 -1 11 -2 5 7 9 33 24 4 10 6
PEEE 1,482 2,976 1,390 1,586 1 2 -3 1 4 5 15 10 0 4 4
FHIAR 328 703 352 351 -3 -5 -3 0 3 -1 9 10 -1 0 1
EE g —T 454 973 478 495 6 11 0 1 1 9 11 2 2 2 0
EE g — T 231 493 253 240 -1 -5 0 0 0 -1 0 1 —4 0 4
R = T 489 1,135 568 567 2 1 -1 0 1 2 2 0 0 0 0
TEE Py T 592l 1,258 598 660 1 -5 -1 0 1 0 2 2 —4 0 4
EEP g R T H 205 524 252 272 0 0 -1 0 1 1 1 0 0 0 0
EER A 1,971 4,383]  2,149| 2,234 8 2 -3 1 4 11 16 5 -6 2 8
EEIARRT— T H 665 1,385 651 734 1 0 0 0 0 -1 5 6 1 3 2
EEIARRT T H 687 1,384 665 719 0 -3 0 0 0 -2 2 4 -1 1 2
EEOARRTAE 1,352( 2,769 1,316 1,453 1 -3 0 0 0 -3 7 10 0 4 4
RPN 315 867 487 380 -1 -1 1 1 0 -3 1 4 1 1 0
WHR—TH 708/ 1,708 850 858 1 8 2 3 1 7 8 1 -1 2 3
HWOOR T H| 1,594 3,777 1,858| 1,919 10 18 2 2 0 13 20 7 3 3 0
WHR=TH 825l 2,181| 1,067| 1,114 7 10 3 3 0 6 10 4 1 1 0
HHRIT H 496/ 1,215 582 633 1 3 -1 0 1 0 1 1 4 4 0
HPREEH 3,623 8,881| 4,357 4,524 19 39 6 8 2 26 39 13 7 10 3
HiR—TH 645 1,570 769 801 4 7 2 2 0 4 1 1 1 0
IHR_"TH 856 2,162] 1,062] 1,100 -3 -3 2 2 0 -3 9 -2 2 4
PR =TH 437 963 502 461 0 0 0 1 1 0 3 0 0 0
JbriRAEH 1,938 4,695] 2,333] 2,362 1 4 5 1 1 14 13 -1 3 4
T IROBTHT 321 807 385 422 1 0 0 0 1 1 1 0
WIEl 1,588l 4,948 2,266 2,682 6|  -12 -5 3 8 -7 4 4
MAE—TH 773 1,834 903 931 -1 —4 1 1 0 -7 2 0
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JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE 1T H 698 1,862 953 909 -5 -5 -1 0 1 -3 2 5 -1 0 1
MoE =1 H 628 1,562 776 786 4 12 1 1 0 10 10 0 1 4 3
A EN T H 897|l 2,195| 1,074 1,121 -3 -9 -2 0 2 0 6 6 -7 0 7
RCENNE 586| 1,404 681 723 -2 -1 0 1 1 0 7 7 -1 0 1
MAESTH 406 1,016 486 530 0 -1 -1 0 1 0 2 2 0 0 0
mAlEaa 3,988 9,873] 4,873| 5,000 -7 -8 -2 3 5 0 27 27 -6 6 12
VEPIe S 513 1,139 565 574 —4 -2 -2 0 2 0 4 0 0 0
e —TH 317 692 339 353 —4 -2 -1 0 1 0 3 -1 0 1
e — T H 583 1,359 663 696 -5 -5 0 0 0 -5 7 0 0 0
A gl 900 2,051| 1,002 1,049 -9 -7 -1 0 1 -5 10 -1 0 1
E— 1 H 319 712 370 342l  -15]  -17 0 0 of -17 84| 101 0 3 3
= =T H 639 1,364 650 714 -71  -11 0 1 il -10 0 10 -1 1 2
=T H 405 1,031 519 512 2 3 0 0 0 2 4 2 1 1 0
EAE| 1,363 3,107 1,539] 1,568 —20[  —25 0 1 1l -25 88 113 0 5 5
e —TH 374 1,009 479 530 -3 -1 -2 0 2 1 4 3 0 0 0
HYE T H 423 1,076 536 540 -1 -2 -1 0 1 2 4 2 -3 0 3
HHE T H 7521l 1,924 974 950 1 -3 0 1 1 -2 6 8 -1 0 1
W& T B 464) 1,074 511 563 2 3 0 0 0 6 6 0 -3 1 4
B E ] H 733 1,674 827 847 1 3 0 2 2 2 6 4 1 1 0
HHIENT H 219 477 248 229 1 -2 -1 0 1 -1 0 1 0 0 0
HEOEE 2,965 7,234 3,575 3,659 1 -2 —4 3 7 8 26 18 -6 2 8
<HWE—TH 607| 1,428 703 725 -1 —6 0 0 0 -8 2 10 2 2 0
<HEIL—TH 700 1,531 755 776 -6 -10 -1 0 1 -9 5 14 0 0 0
SHBEIL=TH 502|l 1,150 565 585 2 0 0 0 4 5 1 -2 0 2
<HEWLPTH 507 1,117 560 557 1 0 0 0 1 4 3 0 0 0
<O T H 349 766 421 345 —4 0 0 0 —4 1 0 0 0
<MEEEH 2,6650 5,992 3,004 2,988 -5 -17 -1 0 1 -16 17 33 0 2 2
WIE AR —TH 785 1,704 851 853 2 -3 1 1 0 -6 7 13 2 2 0
WIEAR T H 4470 1,096 553 543 3 5 0 0 0 5 6 1 0 0 0
PIEARTEE 1,232 2,800] 1,404 1,396 5 2 1 1 0 -1 13 14 2 2 0
s 445 852 421 431 1 -2 -1 0 1 1 3 2 -2 2 4
ek a— T H| 1,0100 1,680 742 938 -3 -1 0 1 1 3 10 7 —4 1 5
e T H 408 681 315 366 1 0 0 0 0 -1 6 7 1 1 0
kR =T H 627l 1,691 794 897 3 8 4 4 0 1 5 4 3 3 0
sk BRI H 394 846 409 437 2 2 1 1 0 5 5 0 —4 0 4
kA a A el 2,439 4,898| 2,260] 2,638 3 9 5 6 1 8 26 18 —4 5 9
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 778l 1,837 902 935 5 8 -1 1 2 2 10 8 7 7 0
VEEE 276 668 323 345 0 1 0 0 0 1 2 1 0 0 0
e — T H 4110 1,096 559 537 -2 4 2 2 0 -3 0 3 5 5 0
e T H 391 914 450 464 -1 -1 1 1 0 -1 2 3 -1 0 1
oo B R 802|l 2,010] 1,009| 1,001 -3 3 3 3 0 —4 2 6 4 5 1
P — T H 620[l 1,340 673 667 —4 -17 -1 0 1 -12 3 15 —4 1 5
P T H 503 1,229 585 644 -1 0 0 1 1 1 2 1 -1 0 1
Ve A a1, 1231 2,569 1,258| 1,311 -5 17 -1 1 ) ! 5 16 -5 1 6
P e 286 664 334 330 -3 -5 1 1 0 -6 3 9 0 0 0
BEHIR 225 549 294 255 2 -2 0 0 0 -2 2 4 0 0




